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Note :— Answers may be written either iu English or in Hindi;
. but the séme mediurq should be used throughout the
paper.
feoquft .39 TYI-99 &1 SR S A1 &< fRd T aren
# Afe; afeT gt ST w1 AEEE T § e
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Attempt A/l questions.

All questions carry equal ni.rks.

wll W g W
wft Y & R TR g
1. (@@ R Company Ltd. estimates .is income for the
previous yéar 2011-12 at ¥ 2-40,000. Besides this
income, it has also earned lon_ term capital gain of
T 1,60,000 on transfer of gold c.. 1-12-2011. Compute
the advance tax payable by th. company in various

instalments. 5
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The follow g issues arise in connection with the

deduction * tax at source under Chapter XVII-B.

‘Discuss th- liability . for tax deduction in these

cases :

() State I''nk of India pays ¥ 50,000 per month as
rent tc the Central Government for a building in
which 'ne of its branches is situated.

(i) A telr 'ision company pays I 50,000 to a
camer- man - for shooting of a documentary
film. -

(iii) A Statc Government pays ? 20,000 as commission
to on. of its agents on salg of lottery

tickets.

P.TO.
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() .An Indian company pays .iividends on preference
shares to a shareholder of Jie amount of ¥ 10,000
on 30-9-2011.
() A company pays fo : doctor a monthly’
retainership of ¥ 2,500 fo attending an outpa{tient
clinic at "its factory pren..ses. 5
(©) Discués the provisions relating to interest payable for

deferment of payment of adv..ce tax ? 5

(F) R & fa. q@ ad 2011-1 & fow st am'
?2,46,000&@!%!6%??1'%1 A & SAfafed 36 ¢
I-122011 & WR W& 31?1'4 f T T 1,60,000 Hid
Aeferfors goft sifemy @ aifdla fen 21
et v & ot g & 1 o T SR

Eqisig
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(v) TH YRAE HOA 3092011 ® W TH
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An individual practicing as a ci utered accountant is

in receipt of fees froma compa. which had retained

him for purposes of internal audi. The total fee aéreed
upon bétweeﬁ the parties'was T 5( J00 and the chartered
accountant was also to be reimb rsed of all expenses

incurred by him to visit the vu.ious locations where

branch offices are situated.
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He wa- paid the following amounts by the

company
_ L4
20-6-2011 10,000 (advance of fees)
30-6-2011 20,000 (towards expenses incurred)
5-7-2011 40,0'00 (balance of fees on completion
of work)
10-7-2011 125,000 (in total settlement of claim for

reimbursement of expenses)

Discuss ‘he liability of the company in regard to tax

deductio~ at source on these payments. 5

R Ltd. fi'es a x_‘etul;n of income declaring an income of
4 4,40,(“.‘0 for assessment year 20]2—13.. A sum of
% 23,000 has already been deducted at source on the
income ¢” R Ltd. during the financial year 2011-12. The

Compan: has paid advance tax as under :

E4
15-6-2011 12,000
1592011 36,000
15-12:201 30,000
1532012 25,000

Comput- the interest payable by R. Ltd. u/s

234 C. 5

When si 1l an assessee be deemed to be an assessee

in defau ? 5

P.TO.
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Who is required to subi it a return.of income under

section 139(1) ?

Discuss the powers of u.: Assessing Officer to make

enquires before making .n assessment ?

Return of income subm..ed by S for

assessment year 2012-13

Additions made by Assc sing Oﬁ'icer :

() on account.of quc.tion

of law 20,000

(i) on account of qu. tion

of facts 90,000
(iii) intangible additions 40,000

Assessed income

1,70,000

1,50,000

320,000

Compute the tax payabl. and penalty imposable under

section 271(1)(c).
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(F) a7 1300) § FREd ot faecoh -3 ® oMl
W T ?
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1,70,000

frairor wfomrd ST gftaed :
¢ faft & g & HRT 20000
() T B T H BRI 90,000

Giy g e 40000 1,550,000

fry'g 320,000 .
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Or
(3rgam
What is reassessment of incor.c ? Is there any time.
period within which notice ¢ n be issued to assess
income which has escaped a:.essment ? 5
R Ltd. filed its return of inc..ne for the assessment
year 2011-12 on 5-6-2012. Is ti.: return valid ? Discuss
the consequences. 5
Sunita filed a return of inco..c declaring a loss of
% 8,00,000. The case was selec.cd for scrutiny and the
Assessing Officer made an aduition of ¥ 5,00,000 on
account of §uppressed sales u.d the asseﬁsment was
made at a loss of ¥ 3,00,000. Ca.. penalty for concealment
of income be levied in the cas. ? If yes, compute the

quantum of penalty. 5
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" Discuss the procedure regardin_ filing of appeal to

Appellate Tribunal. 5

What are the powers of the C..mmissioner regarding

revision of order in favour of the assessee ? 5

Under what circumstances can n assessee approach

the Settlement Commission for settlement of

cases ? 5

(%) oditd Ay # il <if v@ & | gafud

i @1 fag=q wifew)
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(srer)
(a) Discuss the procedure for assessment of: séaréh
cases. . 5
(b)) What are the powers of Income Tax Authorities
regarding survey ? 5
(¢) Discuss the procedure for filing an appeal to the

Commissioner (Appeals). 5

(%) Tomn & wwen & fuior & gl @ faaeE
FHifTT |
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vt & 2
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Ramesh, an individual, has the following assets and liabilities

as on 31-3-2012 :

Assets Z in Lakhs

Plot of land at Jaipur comprising an area

of 1,500 sﬁuare metres on which

building has been constructed without

the approval of the appropriate authority 50
Building constructed on land at Jaipur

without the approval of the appropriate

agthority and‘ u.;:ed for his business purposes 20
Motor cars held as stqck-in-trade 80
Golfi jewellery brought into India from

Dubai, where he was residing, on his

return to India on 15-5-2009 for

permanently residing in India 8
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Jewellery made of Platinum 12

Interest in the coparcenary property

of the Hindu undivided family of which

he is a member 20
‘Cash in hand recorded in the books of account 7
Fixed deposits in a co-operative' bank I5
Liabilities
Loan borrowed for marriage of daughter 9

Loan borrowed for construction of building

at Jaipur 7

" The minor married daughter of Ramesh holds a plot of land
at Indore valued at ¥ 30 lakhs.
Compute the net wealth of Ramesh for the assessment year

2012-13. 15

P.T.O.
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Or
(ergam)

Mr. Satpal gives the particulars of various assets held

by him on 31-3-2012 and requests you to compute his

wealth by explaining in brief that why the same was
dealt with like that :

() Jewellery gifted to wife from time to time in total
of ¥ 6,00,000 and were available with her on the
valuation date having value of ¥ 26,00,000.

(i) A flat in Mumbai purchased under installment
scheme in 1988 Vfor ¥ 16,00,000 and used for own
residence since then. The market value of it wa§
? 30,00,000 on 31-3-2012 and installment of

4 2,00,00_0 was also outstanding.
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(iii) He is a qualified engineer and was in posseséion
of inStrum,ent used for his professional activity.
_The value of all such instruments ‘was 2,00,000.
{iv) Urbaﬁ land purchased for ¥ 4,00,000 in August
2009 located at. Jaipur, in the name of his son

who is suffering from a disability specified under
section 80 U. The age of his son on 3‘_1-3-2012

was 10 years and value of land was ¥ 10,00,000.

(v) House located in NOIDA shown in his wealth-
tax return for A.Y. 2011-12 at T 50,00,000 was sold

on 20-3-2012 for ¥-60,00,000. 10

(b)) Discuss the rules for valuation of immovable property

for purposés of wealth tax. 5

P.T.O.
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Ravi, a tradef sells entire raw materijal to a manufacture
of finished products in the same State. He buys his
stock in trade from other States as well as from the
local markets. The follqwing transactions took place

during the financial year 2012-13 :

4
Cost of materials purchased from other
states inclading Central sales tax
@ 2% 6,12,0(?0
Cost of local materials including VAT 13,50,000-

Other expenditure includes storage,

transport, interest, loading and

unloading and profit earned by him 5,25,000
Calculate invoice value char_ged by Vhim to the
manufacturer and VAT payable by him. Assume the rate

of VAT @ 12.50%. 3
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Under zero-rated sales, prior stage tax is set-off against
the zero per cent tax paid, -and effectively the entire
tax paid-on purchases is eligible for refund. Explain with
example. 3
There are certain cases of purchases in respect of which
generally no input tax credit is available. Discuss. 3
Discuss the salient features of the exemption available
under service tax for small service providers. 3
What is abatement under service tax ? Give three

services whe?e abatement is available. 3.
w Ud, W gEE wea A S T A
YR AR @ fatmio & fau Sw@ %) 9@
s ot T o T A e e A
g ot =dea &1 fasig ad 2012-13 # Fafafea

-1 BT :

?
¥ Toa ¥ wad T wml @t

2%RWW—WWV

AN 6,12,000
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How are services received from outside India charge
to service tax ? 3

Certain services are exempt from service tax. Discuss

any three. 3

Explain the procedure for registration under service

- tax. 3

Input tax credit in relatiop to any period means setting
off the amount of input tax by a registered dealer against
the amount of his output tax. Explain. ' 3
R a dealer at Delhi purchased goods‘from a dealer S
of ‘Delhi for T 13,50,000 including VAT @ 12.5%. R
earns a profit @ 25% on the cost and sold the same
goods to a retailer T.

Compute the amount of VAT payable by R. 3

PTO.
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